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Types of Lines

IMbeheacting Lihes

L

Pebpendlcular Lihee
90°

Panalis! Lihes

00

..--...--...-------..-.--.-'

Definitions

Intersecting Lines
Tw0 lings that cross paths
(have & common point] 0.

Perpendicular Lines:
Lings that meet to form
right angles

Parallel Lines:

Two lings that never meet
and are always the same
distance apart



Types Of Angles
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Type of Angle Description Example
Acute Angle | An angle that is less than S0°
Right Angle An angle that is exactly 90°
Obtuse Angle | An angle that is greater than S0° and less
than 180° 130°
— \\\
)
Straight An angle that is exactly 180° 180°
Angle po—
\\
\
Reflex Angle | An angle that is greater than 180° and _
less than 360° 308°
Full Angle An angle that is exactly 360°

360°
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Type of Angles

Description

Example

Complementary
Angles

Angles that add up to 90°

Supplementary
Angles

Angles that add up to 180°

52°
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- ’kComplementary Angles) L N
A) Find the complement of each angle.
1) 63° 2) 38°
Complementof 63°=  27° Complement of 38°=  52°
3) 87° 4 71°
Complementof 87°=  3° Complementof 71°=  19°
5) 9° 6) 50°
Complement of 9°=  81° Complement of 50°=  40°
B) State whether the given pairs are complementary or not.
1) 36° 54° 2) 46° 45°
complementary not complementary
3) 79°%17° 4) 23°%67°
not complementary complementary
5) 5°85° 6) 52°30°

complementary not complementary
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( \ Sneet |
- L Supplementary Angles : ~
A) Find the supplement of each angle.
1) 108° 2) 36°
Supplement of 108°=  72° Supplement of 36°=  144°
3) 5° 4) 161°
Supplement of 5°=  175° Supplement of 161°=  19°
5) 90° 6) 57°
Supplement of 90°=  90° Supplement of 57°=  123°

B) State whether the given pairs are supplementary or not.

1) 24°156° 2) 135%102°
supplementary not supplementary
3) 99° 83° 4) 31°149°
not supplementary supplementary
5) 112° 68° 6) 70° 100°
supplementary not supplementary

Ex 5.1Ques/ Ans



(Class - VH) re ov
Exercise 5.1 Y

Question 1:

Find the complement of each of the following

£ Answer 1: \

Complementary angle = 90° - given angle (™}

(i) Complement of 205 = %0 - 20" = 70"
(1) Complement of 63" = 90 - &1 « 27"
(lii) Complement of 37" = 90" - 37" = 33"

Supplementary angle = 180" ~ given angle ®
(1) Supplement of 105 = 180° - 105" «75°
()  Supplement of 87" = 180" - 87" « 93"

(i) Supplemsent of 154° = 180° - 154" = 26°

Question 3:

Identify which of the following pairs of angles are complementary and which are supplementary:
0] 65115 (1) 63°.27° ()  112°.68°
(v) 1300500 (v) @.a' (vi) o000

£ Answer 3:

If sum of two angles is 90, Mlhq
1 65"+ 115 =180

H) 63427 =%
(i) 27+ 68%= 180"
(W) 1307+ 507 = 18P
(v) 45 +45 w90
vi) SOF+10° =%
Question 4:
Find the angle which is equal to its complement.
£ Answer 4:

mmdu-mmmmux
. e =

= 2=’

= .-1;--45'
Thas, 45 Is equal to its complement.

(Class - VIT)
Question 5:
Find the angle which is equal to its supplement.
£ Answer 5:
Let x be two equal angles of its supplement.
Therefore, X+x=180° [Supplementary angles]
= 2e=180"
= x=¥=w

Thus, 90" Is equal to its supplement.

Question 6:

In the given figure, £ 1 and £ 2 are supplementary angles. If £ 1 is

docreased, what changes should take place in £ 2 so that both the angles

still remain supplementary? YL

£ Answer 6:

I £ 1 is decreased then, £ 2 will increase with the same measure, so that both the angles still remain
supplementary.

Question 7:
Can two angles be supplementary if both of them are:

K.
Y

® acute (i)  obtuse (i) right?
£ Answer 7: /
) No, because sum of two acute angles is less than 180°.

(i) No, because sum of two angles is more than 180°.
(1) Ye.mmdm aaﬂaulw'

Question §: |
An angle is greater than 45%. Is its 5° or equal to 45° or less
than 45%? »

£ Answer 8:
Let the complementary angles be x and v, Le, x+ y =90
It is given that « > 45
Adding v both sides, xey>45 oy
E) W >45 +y
= W45 >y
= ye<ds
Thus, its complementary angle is less than 45"
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